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Haif®s sia/Maximum Marks ; 320 HAT(Time. 2 &/ 2 hours

=t &1 AwName of the candidate : 3w F/Roll no.

aﬁﬂﬁﬁ%‘f?ﬂf@r /Instructions to the Candidates

1. XTI GERT A9 H1aET H ST R a1 Jiie-ongeT 3eT & TR W e Rl wien F v st
e e @1 A 9= A9 & arorq vl H & a1 R $ HTaR BT eaar = s ¥ ar

You have been called for the written test based on the online data furnished by you in the web application.

If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. -9, 80 9ol A I WA-GRAF FFT A § 3 oy A @@ 02 6 ¥ |
The Question paper s in the form of Question Booklet with 80 questions and the duration of the testis 02 hours.

3. 9 fawedt ¥R awqfase YER & wea g e & R o arifew w9 ¥ Wl g |

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. YT W HAC 04 3iF g 3R 9T e 3w FFAT v 3iF FweT Swew |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. el & oo & & TR 31T HTHHR Seer-gRecenr & S|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer opfions.

6. 3T, SeoR-GRea ¥ R 0 3ot & g, el Ty ¥ st qe O § TR 3
iR & Ha et Jifaer @ 3 % T 3eak &1 97 AT B

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet.

7. UF YR & TAT 390 3caT Ied AT S|
Multiple answers for a question wilt be regarded as wrong answer.

P.T.0



10.

1.

12,

13.

14.

15.

TR ETY et 2 T - 9fEaa P HTAAR Sea Ifecen! W Aféee e o fomer iz

Question booklet code printed on the top right comer should be written in the OMR answer sheet in the space
provided.

w127 REeRT # TR SATH T 3T A fordd |

Enter your Name and Roll Number correctly in the question booklet.

WMH-WﬁHSﬁqﬁﬁ%ﬁﬁiﬁmaﬁmtahmﬂatﬁﬁmﬁaﬁm

All entries in the OMR answer sheet should be with blue/black ball point pen only.

T{err gt & Frivere $r 3uftufa 7 & s gia-feare/pIeand Ui g F1 91|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

g, e 3T A 1 HepAid #21 § Te|

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be
allowed inside the written test hall.

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand

over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

- QT 313t e o @ el €

The question booklet can be retained by the candidate.

et & e 6 & 2R st o oieT gfe olse i A A 8

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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THN g — €t (Rera-fAEh — 92 . 1390
TECHNICIAN - B (ELECTRICIAN} — POST NO. 1390

Ao qulEl 1 aiRdr sad 1:2:3 § 3R 39 HR-OR aeedr e 3:2:1 @, ar
Fuftal & Foll HSROT Ui e 87

If capacitance of three capacitors are in the ratio 1:2:3 and the voltage across them are in the ratio
3 :2: 1, what is the ratio of energy stored in the capacitors?

(a) 3:4:3 (b) 9:8:3 (c) 1:49 d 3:8:9

—cos x % HIT H —sin x BT 3GHaS ... £/Derivative of —sin x with respect to —cos x is
(a) cotx (b) tanx (c) —cotx (d) -—tanx

el FefiAT it & ...... 9geFd TR ST §/inter poles in DC machines are used to

(@) AT ufAfhar & YIng #1 3 Fa & fAu/Reduce the effect of armature reaction
(b) FIIT & THIT T A FL F folT/Reduce the effect of cogging

(¢) TRET0T & gHTT FF F FIA & fAT/Reduce the effect of crawling

(d) 3 A HS Y AE/None of these

AT IUTiF JURA & v 6@ AT 71 39T K71 e &

Which motor is used for power factor improvement?

(a) WRofl He/Induction motor

(b) 3Iaafg qifey W FAIEI/Under exited synchronous motor
(c) B 5]:@?" AIEI/DC series motor

(@ FoEfeafa @Fﬂﬂﬁﬁ FEI/Over exited synchronous motor

q IO ..... I HeTIIT 8/Form factor is the ratio of

(a) 3t AT 3R R@R A/Average value to peakvalue

(b) FAET AAARRTT FFA/Peak value to average value

(¢) 3Ta AW AR JRTHATHE AA/Average value to RMS value
(d) IRTATH AT AR I3AT AF/RMS value to average value

TEARAT H AtFHaH g&far & faw ... gl

The condition for maximum efficiency in transformer is
(a) TH FR LT & S/Copper loss is equal to zero

(b) HN FH Y ¥F ER/Core loss is equal to zero
(c) dMF FTHAR FH & SAGAV/Copper loss is equal to core loss
d) (@) 3R (b) A=/Both (a) & (b)
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10.

11.

12.

13.

14.

e 2 sfaT 7 snfr gfafsar . T 39T g &l

In a DC generator armature reaction is produced by

(a) PR YRV/Armature current

(b) &7 YRI/Field current

) 87 3R TR 4RT, E51/Both field and armature current
(d) &F 91 HHE URT, FIS TH/Either field or armature current

THEscT ....... F AN & faT RECT fFar STar #/SWG is used to measure

(a) <UME/Diameter (b) WAL /Resistance
() Taega que/Insulation (@  I9IFT THVAI the above

qROY F ... ¥ T @ F AT guerder &1 gaver B Srar 8

ELCB is used to protect the circuit from
(@) 3 GRI/Over current (b)y HIT Freear/Over voltage

(c) &WOT 4IR1/Leakage current (dy 39w WHVAI the above

B 3vcr TeuA # 3 aleed ... €/The line voltage in three phase delta connection

(a) e Alecdl & FA/Same as the phase voltage

(b) e dAeear A W/Two times phase voltage

(c) e dteeal A Al I Three times the phase voltage
(d) sTHH EF% 8%y F81/None of these

it aa i yfawdr aeear W ... &/Typical voltage range of a solar cell is
@ 03V ®) 05V © 07V @ 10V

3 Avft 2,-2,-6,..F 10aT 9% ......E/101 term of the Arithmetic Progression 2,-2,-6,

@@ 56 (b) ~64 © -34 @ 25

IR U ORAT 38 DaF HT SArF "eHT W7 aXar &, ar I ufade !

If the diameter of a finite length conductor reduces to half, then its resistance
(a) TATT TETe/Remain same (b) HTHT YT 8T &/Reduces by half

(¢) TR I &1ar §/Increase four times (d I« 8T &/Increase two times

AT 99y & afea ?_:I;UTI? ...... &/Power factor of RC circuit is

(@) YI/Zero (b) TH/Unity
(c) A/ Leading (d) TRTUIMHI/Lagging

. IS
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15.

16.

17.

18.

19.

R g 7 Reafafdd ooy & 39 ¥ o A=arel anr feaer &2

What is the current drawn from the cell in the following circuit under steady state?

50 50

. _——L——: :I]
T 20 a0 40 —— SHF

140 130 170 100

A AR F AT R gl FAE WO &89, dfdT @ W9 W 9R ant #@)
AT ST IT §1 AT TR ... gl

Resistance of a copper wire is R. Four such wires with the same cross sectional area, but twice the
length are connected in parallel, the net resistance is

(@ R (b) RS2 (c) R/4 d R/S

R 1 9faY 0.5Q § durqor faid 10mA & HeeT ¥ 3T § W F 1A
IF To= & AU 3maeEs e gfaus a2 §2

Resistance of a galvanometer is 0.5 and full scale deflection corresponds to 10mA. What is the
shunt resistor required to increase the range of the instrument to 1A.

70 6 40 5
(@ —/Q (b 5%9 (c) 9—99 (d) @EQ

UF Ggr & YR HT AT ONE 0.005 QeC §l 200C WeH T ¥ § TH AR #
gfeir 10 &1 9foy, B aaEs w1 2Q gem?

Temperature coefficient of resistance of a material is 0.005 Q/°C. At 20°C, the resistance of a wire
made up of this material is 1Q2. At what temperature the resistance will become 2 Q.
(@ 200°C (b) 220°C

(c) 180°C () 3T A FS 3 7 /None of the above

100 $r aRe yiaQe are e 1.5 vas & s@en # d@6ua fFar m@m g1 15Q @
H 3H I § Sier 1ar 81 39 IRUY # varfga arr 4w g7

Three 1.5 V cells each having internal resistance 10Q2 are connected in series. A 15 Q load is
connected to this battery. What is the current through this circuit?
(a) 03A (b)) 0.15A

() O0.1A (d) 3"4'{5:3? #H A F1S Y 781/None of the above
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20.

21.

22.

23.

10Q 9fRIE= R 15 Q UfeRIesF & sj@en & v 2V da § Jgr /2 {1100 vRuw
& HR-9R #r decar H 2V A 717 {1 i@ F #i7 v @nes sror 2

A 10 Q resistor and 15€ resistor are connected in series to a 2V cell. The voltage across the 10Q

resistor is measured as 2V. Which of the following is a possible cause?

(a) 10Q TR TEARAT §/10Q resistor is short circuited
(b) 15Q yfatrameeafa §/15Q resistor is short circuited
(c) 15Q m /15K resistor is open

(d) 3q'—.*_§§a H I S 87 s7E1/None of the above

239808 & AT 2 mA $r 3aREdl arT 20 pF §URT F1 3aRT & &1 guafs &

IERT Fa & fovr Raf@a & wiq a8 &

A constant current of 2 mA charges a 20 pF capacitor for 2s. Which of the following is true for the

charging of the capacitor.

(2) WURFAHr deear# 0V 200V aF Hr I gig v ¥

Capacitor voltages increases linearly from 0V to 200V

(b) TR Y dleedr F 0V F 200V & Y AEmdih ghe g1 €
Capacitor voltages increases exponentially from 0V to 200V

(c) WA Hraleear 7 oV & 100V a& 1 @+ gfg B &)

Capacitor voltages increases linearly from 0V to 100V

(d) el Hrareear i ov / 100V a% A awerarh gy B &

Capacitor voltages increases exponentially from 0V to 100V

f dx T HAA...... &/The value of [ —— dx
xlogx xlogx
(a) llog(x) (b) xlog(x) (¢} log(x)x (d)

T dvd ar UHeR & fav Peafafa@a d sia-arwgrg?
Which of the following is true for a hot wire ammeter?
(@) AT F o0 T TS T 3TN T 2|
Uses thermal effect for measurement
(b) TaRdT, &R & &9 T HTA A g1
Deflection is proportional to square of current
(c) ERTIF HRUATH HIA F ANNA HLAT 5
Measures RMS value of the current

(d) ITdFIEsh
All of the above

log(log(x))
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24.

25.

26.

27.

28.

29.

30.

URT SAHIAT ... % fAT s far Smar @/Current transformer is employed for

(a) fAoRor T & aRv Qﬁa?r!Ff/Changing current in distribution line
(b) 3TA YAIGAT YRT & HATIA/For measurement of high alternating current

(c) 3I=g ufeq BTF:I:UZI’I'JT %T:I_; HIRT F&1a/To step up current for high power application
(d) 399Fd # T FI$ M 7E/None of the above

Td & 99 & YHY FH G99 ..... ¥ &/Sweep of ceiling fan refers to

(@) 9@ & a0/Speed of the fan

(b) WelE FI FAGTS/Length of blade

(c) &Y [T werh HY FTE/Double the length of blade

(d) 39F gUIA ¥ a7 ged & SA/Diameter of circle formed by its rotation

R faegd RaA & F9ER R smgfea famvor..... §)

The permissible frequency variation according to Indian Electricity rule
(a 1% b)) 2% () 3% (d) 4%

qealrg Agfed S 50 Hz &, @Y 124 Jeadiios Al 1 Jodelias a9 ..., gl

Synchronous speed of a 12 pole synchronous motor when the supply frequency is 50 Hz
(@) 6000 rpm (b) 100 rpm (¢) 1000 rpm (d) 500 rpm

o & YofRfEE B & R ... & BT R T )

Holes are provided in the aluminium disc of an energy meter to

(a) TR A F/Reduce resistance
(b) TAHIOT T Ahed/Prevent creeping

(c) 9o 3-|T€1;01’ o1/ Increase torque
(d) #R FHA FI/Reduce weight

SR fdegd AEE & HJAR T a1 Ay Aicedl H HeageAT Aecaridgior

AT §2 / As per Indian electricity standard, what is the allowable voltage variation in low or

medium voltage supply
(a) 2% b) 4% () 6% @ 10%

e e & 3TaR v SRl Al A favielr faega ags a8 HqugFd dleedl
faTer &Tar §7? / According to which law, the back emf in a DC motor opposes the applied voltage
(a) U3 rTHA/Faraday’s law (b) " FTALenz’ law

(¢) VPRI 9#A/Ampere’s law (d) @NFE FFHA/Lorentz law
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31.

32.

33.

35.

36.

37.

97 X 97 +2X 97 X3+ 9FHA ......¢/The value of 97 X 97 + 2 X 97 X 3 + 9 is
(a) 1921196 (b) 19604 (¢) 10000 (d) 48412

F Y TeEER F grufAE W 2000 B AR gfads w200 WY §1 arufRE gay
W aREasF dlecam 100 V &1 TF 5 30w 9oy A fadww & @y Ser B

gfacdas® URT 1 aReer AT
An ideal transformer has 2000 turns on its primary and 200 turns on its secondary. The driving

voltage in the primary side is 100 V. A 5 Ohm resistor is connected to the secondary. Calculate the
secondary current.

@ 1A by 2A ) 3A @ 4A

TEOHER Fr gfcarr HATd........ % HH &/The impedance ratio of transformer is equal to
(a) ;‘IR‘IWW&T-‘:HFT/T ransformer ratio

(b) ;‘I?H'ﬁ'ﬁ!’?:ﬁ'qm # gfdei#d /Inverse of transformer ratio

(c) ;‘F&Wﬁ?ﬁﬂmﬁ & a/Square of transformer ratio

(d) mﬂm F 37 & gfaeF/Inverse of square of transformer ratio

et A A T S GERIT 8 SO 87

Which of the device is a single excited magnetic field system
(a) oY 2T AE/DC shunt motor

(b) Y 8[@?*" ATI/DC series motor

(c) F_l)?ﬂlﬂ?lﬁﬂi AEY/Synchronous motor

(d) UFARYT/Relay

AT TG FBAT H ... FHG 97 &d Bl

A triplex wave winding will have -------- parallel paths

(@ 2 b 3 © 6 @ 9

v R AT H gor aRuY HIRERTOT IHHT .. JfreTor o FEaTar B
The open circuit characteristic of a DC generator is also called its ------------- characteristics
(a) @W/Magnetic (b) AT/ Internal

(c) €TEA/External (d) T ¥ F1$ 51 A/None of these

AP & THE HaUF H ......... ofr sgr ST B
Scott connection of transformer is also known as
(@ V-V (b) T-T © Y-Y @ A- A
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38.

39.

40.

41.

42.

43.

44,

Prrafafldt & Te9 Ted wiageh 9erd Hia-ar g

Which of the following is the strongest diamagnetic material

(a) AWIBC/Graphite (b) THIEH /Quartz

(¢) YR< /Mercury {d) . &1 /Glass

¥t e 7 399N, A9 & faw fRar S g/Kelvin bridge is used to measure
(a) ®RI/Current (b) SRdM/Capacitance

(¢} ufdamen/Inductance @) fAFT gfcde/Low resistance

dieear V & 3RRT e @Ed Mes & e & AN LE

Potential inside a hollow sphere charged with a voltage V is
@@ V (b)) V2 © 0 @ 2v

Gadel clieral AR aehe o F HFAS F gl AT 8
The ratio of magnetisation intensity to the magnetisation force is known as
(a) g?JT%'EIT /Susceptibility

(b) &FT gacd/Flex density

(c) IS gameliercl/Relative permeability

(d) T U IS 3 AE/None of these

x2 4 2x — 15 = 0 URAEHLOT HI AA i £/The roots of the equation x2 4+ 2x—15=0are
(a -5,3 ® 3,5 () 3,5 @ -3,-5
gehie faet=or.......... FT YA g/Degaussing is the process of

(a) 3maferse gaﬂ'zr & T fQellI=d/Elimination of remnant magnetic field
(b) Efcdesh HWET & gﬂ:@;ﬁﬂﬁmemagnetising metallic part
(c) gazﬁm 9y § H?_I’ﬂiﬁﬂ AT BE'F-T/_Removing nonmagnetic impurities from magnetic

material

(d) ﬂﬂiﬁlﬂ Yoy & q?]_‘éﬁT ¥ ge/Removing trapped gas from magnetic material

RAEUOT TFEEFER H ... NOFaE @aTar ¥ /Distribution transformer has maximum

efficiency around

(@) OV @S & Ird/Near full load (b) YIS F TrH/Near no load

(€) S0%IS/50% load (d) 394F H A FIS 37 ST/ None of the above
9 1390




rrre—

45.

46.

47.

48.

49.

50.

SRR AEAE URT 3R SCHAFURT &7 I 0.99 1 ey €T 3R ITUR &y 350

31@'1]?:’ IETll €2 / The ratio of collector current to emitter current of a transistor is 0.99. What is
the ratio of collector current to base current?

(8 100
(b) 99
) 101

(d) 3TI'§7=PT-I' H Q@ F5 o F€/None of the above

Hmmﬁrar%uﬁﬁum%lmuﬁm(maﬁﬂovzﬁrmaﬁawm
X T & T e F gRE & wrr Ser @ ¥ YRS F1 FQOT AT 1mA ¥
W%iwﬁﬂﬂmmﬁﬁm&mﬁmaﬁmmﬁa:ﬁwﬁw,ﬁwmq%
3 BN

Internal resistance of a galvanometer is 1 £. A resistor (R) and a voltage source of 10V are
connected in series to the galvanometer to make an ohm meter. Full scale deflection of the

galvanometer corresponds to 1mA. What is the value of the resistance R so that zero resistance
measured by the meter corresponds to full scale deflection.

(@ 9999 0 (b) 10000 N © 9990 (d 10000
250V uH #r RET ¥ REy areear frast 37

What is the peak to peak voltage of 250V AC?

(@ 500V b 707V

(c) 353V (d) 39w & A FE 87 7E/None of the above
wmmoﬁ%a#wgmmrﬂaﬁmﬁmm%iﬁmﬁi@aﬁm
HURT & Tg el &R F7 vl axar &2

A voltage of Vsin(4t) is applied to a pure capacitor. Which of the following represents the current
through the capacitor?

(@ Asin(4t -3 ® Asin(4t - 5 © Asin(4t + 3 @ Assin(4t +Z)

AT A AeTaAT FT THHIOT v=3sin(20t) + 4sin(30t) §1 3R 3T Aeear FF 100 9faRus & gt
3 Stre o afRa e Rraer @em?

Equation of voltage from a source is v=3sin(20¢) + 4sin(30t). What is the power dissipated if this
voltage is applied across a 100 resistor.
(a) 049W (b) 125W € 25W d 50w

.. IRy & F=faRa F O s 81T 8/ Which of the following is a loss in a d.c.

generator
(a) @M BTfe¥/Copper loss (b) BT &1f¥Iron loss
(c) Tif¥F gIfA/Mechanical loss (d) 3?{13? HHY/AIL of the above
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51.

92.

53.

54,

55.

56.

o 357 tareEs #/In an intrinsic semiconductor
(a) ECCran o) Hear 5 Y g F @A ¥/Number of electrons is equal to number of

holes

(b) gAFTIAr Y wE B f e & 318k &/Number of electrons is more than number
of holes '

(c) SAFgAT F FEAT e 1 9= F FA &/Number of electrons is less than number of
holes

(d) (a), (b) TT (c)dTHHET T 19 FaT &/(a), (b) or (c) depending on temperature

ﬁﬁmmﬂﬁaaﬁaﬁ,maﬁwﬁﬁﬁcmwgmmraﬁumm

In a transistor based oscillator, the total loop gain required to sustain oscillation is
@ 1 () 05
) -l (d) 3@%’ HAFS A #&/None of the above

1oow,220vm§mia?$a’rﬁa3:;raﬁ*a$rs[@mﬁ220vam1éa;msngrm%|
QWMW1WMImmﬁEﬁWﬁEﬁW¢$WGﬂEW%I

afFaer@awad | WaWe ... Bl

Two electric bulbs with rating 100W, 220V are connected in series to a 220V supply. Let the power
dissipated be W;. Then the same bulbs are connected in parallel to the same supply. Let the power
dissipated be Wa. W1/W2 is

(@) 2 (b) 025 © 4 @ 05

mﬁWﬁmﬂwﬂaﬁ&mmwaﬁr%aﬂwﬁﬂuwmmma
St GRRIUF ¥ UfFd 3TN F ST Rraer aRace g

If the voltage applied to a resistor decreases by 1% and the value of the resistance increases by 1%,
what is the approximate change in the power consumption in the resistor?
@ -1% (b)y -2% ) -3% (d -4%

SreTere 3 Ml U WA diecal H1 20W T T 40W o I die] WA ... 3T 7 g

Filament resistance of 20W bulb and 40W bulb, both rated to same voltage of operation is in the
ratio

@ 12 () 21 ) 14 @ 41

mrzamzamaamﬂmﬁmwmmmﬁm$mm
m@rnémﬁ?rzow%,aimmatmmmmﬂméamm%?

Two resistors with resistance R and 2R respectively are connected in parallel. If power consumed in
resistor with resistance R is 20W, what is the power consumed in resistor with resistance 2R?
(a) 20W (b) 10W ©) 5SW @ 1w
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57.

58.

59.

60.

61.

62.

63.

gmﬁaﬁmﬂmm#mﬁmmﬁgamﬁmﬁﬁaﬁﬂa-m%?

Which of the following is the commonly used depolarizer in dry cell
(a) #Hasr STAATRATSE/Manganese dioxide

(b) sT3fEH I3FNitric acid

(c) STET II3SVUCarbon powder

(d) WEBIA FARB/Sodium chloride

The commen electrolyte used in nickel iron cell is

(a) H,S0, (b) HCI (c) KOH (d) NaOH
0.1Wbﬁr@1nmﬁummmmaﬂaawmﬁmﬁqﬁm$mwm
%lmqﬁ;ﬂwﬁwﬁ#ﬁmmﬁﬂﬁaﬁwmaﬂmrrmsmm
IRees RATI Toens angfeT 50 Hz &)

A sinusoidal flex with peak value 0.1 Wb links with the secondary of a transformer. If number of
turns in the secondary is 10, calculate the rms value of the induced emf in the secondary. Supply
frequency is 50 Hz.

(@ 222v (b) 444V () 666V (d) 888V

100@1’?:?35&31119%@@1omgw1ogaaiwaﬁaaﬁaﬁaa1zoorpmﬁ
qﬁaﬁaﬁmm%a}mﬁrﬁagamquﬂmﬁﬁmu%gam

0.01 Wb ¥

Calculate the emf generated by a 10 pole wave wound generator having 100 slots and with 10
conductors per slot when driven at 1200 rpm. The flux per pole is 0.01 Wb,
(a 100V (b) 1000V (c) 1200V (d 600V

S00rpm# TeT T 50 Hz,64d, 3-TROT $ROT AT HT FFdTT 2a7ar frasht grfi?

What is the approximate efficiency of a 50 Hz, 6 pole, 3-phase induction motor running at 900rpm
(a 95% (b) 90% ©) 8% (d) 80%

1cmmmmo.859cmﬁagamm¢gm1mﬁwmm$
IR FIoRY T ToT FosT) RegeRith gard # 3R TRRIT 6 x 101 Q o gl

Find the insulation resistance of 1 m length single core cable having a conductor diameter of 1 cm
and insulation thickness of 0.859 cm. The specific resistance of insulation material is 6 x 10 Q-cm.
@ 0859x10°Q () 0287x1020 () 0954 x 102 Q (@ 0528x1080

ffsaa ... COECDE

Steradian is the unit of

(a) TSR PIUT/Planner angle (b) DT FIUSolid angle
(c) Taf3Ror gavarRadiant efficiency (d) 3‘1'{13%1' H A F¥E 3 AEHNone of the above
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64.

65.

66.

67.

68.

69.

70.

7.

72.

FATROT 93+T & T 3na2ds vt T &F ... 2l

For usual reading, illumination level required is around
(a) 20-40 Lumen/m’ (b)  60-100 Lumen/m’

(¢) 200-300 Lumen/m’ (@ 500 Lumen/m’& FU/Above 500 Lumer/m’

%aﬁmmﬁ#%mmmmm@wmﬁ ....... |

For low head and large discharge, the hydraulic turbine used is

(a) WHIfAE &IEgad/Francis turbine (b) FHUATT cT@T31/Kaplan turbine

(c) deeld elag«l/Pelton turbine (d) ﬂéﬁﬁﬂﬁé 3t #81/None of the above
wmmﬁmﬁmmﬁﬁ@aaﬁﬁﬁﬁama?m
20T B A FART AT 87

In a nuclear reactor which of the following material is employed in control rods to regulate fission rate.
(a) wigl/lron (b) drdel/Brass

(¢) HsATH/Cadmium (d)  IRIFE/Graphite

frg I &1 dleedl # @A dleedl FEraar §

Which range of voltage is referred as low voltage?

@@ <15V (b) <230V © <600V ) <11000V

-\E_i\/; ......... & A %’\,—5}_\’——2 is equal to

(@ V3-+2 b) V3+v2Z © 1 @ 3

TR GEF ... q g7 T gar ¥/Permanent magnets are made up of

(a) UfedAHl/Alnico (b) WARTH Feec/Samarium Cobalt

() FfEAIANeodymium (@ 3TIFA FVAI of the above

afeT & G AT e &/Motor used in locomotive is

(a) S 2ie AMTYDC shunt motor OIRELIEEEY AEY/DC series motor

(c) F'laﬂlﬁ?lﬁ*'ﬁ? AYeT/Synchronous motor  (d) 3q1-.‘(,a—?-r FA TS oY #Ei/None of the above
wm#mzosmﬁmﬂmmﬁOA#mAﬁqﬁaﬁammm

aieear 2V ¥l (E F e Frder §7?

In an inductor, the current changes from 0A to 10A uniformly in 20s time. The induced voltage is
2V. What is the inductance of the inductor?

(@ 1% henry (b) 28 henry (9 3 &1d/henry (d) 4 g henry

The constituent having highest percentage by weight in Permalloy is
(a) NE/Iron (b) @RieA/Boron (c) HaTee/Cobalt  (d) forhe/Nickel
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73.

74,

75.

76.

77.

mﬁmm#mﬁﬁmﬁﬁaﬁwwa‘?

Which of the following is true for the leakage current of a diode?

(@) dYART F Frr q@' Bt 8/Increases with temperature

(b) e FIEH CART 3c9e<1 8T &/Produced by minority carriers
(c) URRIF Iow AT F gl 2/Occurs in a reverse biased diode
(d) 3"1?33? /A of the above

mmmwmﬁmwﬁmm%vmmmﬁ
A deear Far §7 :

The peak voltage at the secondary of the transformer of a half wave rectifier is 20V. What is the
average voltage of the rectified wave?

(a) 6.36V (b)y 14.14Vv (© 12.72v (d 20v

U SISITet # HI O 4.5mA 3R YR GRT 20pA R SemeE G gl
In a transistor, the collector current is 4.5mA and base current is 20pA. The emitter current is
(a) 4.52mA

(b) 4.48mA

(¢) 4.5mA

(d) 3'CI'{1?I-T-|' H ¥ FZ o F&/None of the above

w;ﬁmﬂmﬁwmmﬁmm%mmiﬁWMA 3R 3casw ury
1.01mA &I o It urr wfRy g

A transistor is connected in common emitter configuration. Collector current is 1mA and emitter
current is 1.01mA. What is the DC current gain £ of the transistor?

(@ 1.0l (b 099 © 100 d) 101

wﬁmﬂaxm*m#mﬁwmmmﬁm ........... 9T

In an operational amplifier connected as an inverting amplifier, the virtual ground is at

(@) wfaerr Eﬁ?-lT-T/Inverting terminal

(b) 3faerAT ef&¥F@/Non inverting terminal
(c) ﬁa"\*rflnput

(d) ﬁﬁﬂ/Output
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78. MAaﬂTBa:mmﬁrqﬁﬂﬂson%,qﬁﬂumew%?

If effective resistance between A and B is 5041, what is the value of the resistance R?

R 100
A @

2000 R

s @———— "1

104}

(a) 10Q
(b) 40Q
(cy 30Q

(d) 3‘«'-1'!33? F ¥ 5 o sT€I/None of the above

79. wmmmﬁmmma:mﬂ@mmmﬁ@wa
Irer &Y, ..

In a parallel plate capacitor, if area of each plate is doubled and dielectric constant is made half

(a) ORATHFE qf¥adeT #1el 1T §/Capacitance remains same
(b) enRar g @Y ¥/Capacitance doubles

) Rar IR e ST &/Capacitance becomes four times
(d) enfar mefgr Sl §/Capacitance becomes half

80. EreTRg aRuy & aEr AB # yaifa O F4 §7?

What is the current through the branch AB in the following circuit?

»
-

10V -1 100 200 400

(@ 175A (b) 05A () 075A @ OA

B 15 1390



%= %™ & Ry Ta™ / Space for rough work
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